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Section A (5x 1 mark)

Question 1 to 5 carry 1 mark each.

For each question, four options are given.
One of them is the correct answer.

Make your choice (1, 2, 3 or 4) and write it in the brackets provided.

I 1 fifty-cent coin is equal to ten-cent coins .
(1) 5
(2) 2
(3) 10
(4) 50 ( )



What ¢
an Kelly buy if she has $4 ?

(1)

(2)

(3)

(4)

]



Banana

Pineapple Orange Apple Corn

3, The is the 2nd item from the right.

(1) pineapple

(2) orange

(3) apple

(4) comn ( )
4. Which shape comes next ?

=

I*V
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(1)

(2)

(3)

(4)

O




3 Mary is thinking of a number.
The number is more than 17 but less than 22.

What number is Mary thinking of ?

(1) 5

(2) 17

(3) 19

(4) 39 ( )

Section B (5 x 1 mark)

Question 6 to 10 carry 1 mark each.

6. Write down the fime shown on the clock using

i

o'clock ' or ' halfpast .




7.

Simon has four coins in his wallet.
The coins are 5 ¢, 20 ¢ and 50 ¢ coins.
The coins are worth 80 ¢.

Draw to show what the four coins are.

Each O stands for 1 unit.

The mass of the pineapple is

units.

31



9. Solve the questions below.

(a) 6 6 (b)

e L

10.  Kitty, Mindy and Tina are good friends.
Mindy is shorter than Kitty but taller than Tina.

Among the three of them, the tallest is

Section C (Q11: 1 x 2 marks, Q12: 1 x 3 marks)

i Wilson bought a toy train at a shop.

He gave the cashier 2 ten-dollar notes.

How much change did he receive ? Toy train: $13

He received $




12. Mrs Tan bought 2 boxes of cookies.
There were 6 cookies in each box.

(a) How many cookies did she buy ?

“I.-‘-/

She bought cookies.

(b) Her children ate 7 cookies.

How many cookies had she left ?

She had cookies left.

335
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Ql | Q21Q3/Q4]|Q5
1 4 3 2 1

6)2o’clock  half past 10 7)5¢, 20¢, 504, 5¢
9)a)8i  b)33 10)Kitty

11)20-13=7
He received $7

12)a)2x6 =12
She bought 12 cookies.

b)12-7=5
She had 5 cookies left.

8)9
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